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Unit 2 Review: Sequences and Series

1. Find a,, a,, and a, for the recursive sequence. 6. Determine whether the sequence is geometric,
a,=a, ,+3 where g =5 qlzﬁ Ola = L) A= | 1} _arithmetic or neither
ag: Up=0p ¥ =0 +7 2 a) 6, 24,96, 384,.. GEOMRATIC V=4
*0+3 " , . |
%2» b) 1.0, 1.3, 1.69, 2.197 gEOMENYVi(, r=1-3
Aq - 013:0131 ¥2=02 + -
T Bt3- ) 5 11, 13,23, .. pairner
ay: Ay=Aq543 = || +3 =14 S
2. Find the sum. *Make sure you know the 7. Find nthterm and the 10 term of the
PROCESS, not just the shortcut!* geometric sequence. A= g
: . 4 4,12, 36, 108 ... -
2= [(2)'+ 2(2)"+ 3(2)3+ 4(2) ¢ 12,30, 105,y .
Z )+ 2 @) 4(" awzur(a) 4'—!8?52'
9 | (@ = -1
m Uy = Y (2) :1

8. Find the sum. &
3. Find the 60" term of the arithmetic sequence. zﬁ: 22 922, k] B bt W ey g
26.2,29.9,33.6,37.3, .. a=20-2, d=3.% <4 -

o = 2.2 + 2.7F(w0-1) [ 21 K
9. A partial sum of an arithmetic sequence is

l 244, 5 ‘\ given. Find the sum. az-30
d= 0. 3
-30-29.7-29.4- .. -0.3 (See # 5)
4. Find the number of terms in the sequence. * ~0.2= -30 + 0.2 M)
3,813,..73 Arithwmehe a-3 n=10p

946 T SGad n d=5

\}

o = (00

1615

33=3 +5(n-1) _ 2
0 :5n-S |15
S =6n 10. How many terms of the series 7 + 12 + 17 +
(9=n 22 + ... must be added for the sum to be 34027
5. A partial sum of an arithmetic sequence is S = .g. C2a + d(_n—lﬂ Sn
given. Find the sum. a= £ Fiﬂd nvimber
3+7+11+..439 d="3-i of +gyms (n) 3402 = -3 C2(3)+ G(n'l)]
* 39= 3+ Y%(n+) # P\ug in';‘omn 3402= 2 (9q+6n)
n= 10 Sa=n (22 0: 40+ Sn?-3H02
eha\l‘{. et ” 7 s =PI m)
- DSk 4rm) KUSE glapning Gubtor
4 S " lO(?’_ﬂ') » Y= eHUDROO
2 > Rﬂd\ Nnﬂ'g : ‘:O on TABLE

(£ 15 pocifive 3 wiole #)

(2] En



$= 195? f v is @ &acthog

11. Find the sum of the infinite geometric series, if
it exists, or say diverges.

. :\3..
2 8 32 =TT
a) ———t——...
7 49 343
= =R e ¢
= —,snee vl
J =+ )Semeg (,m{)ébfaQo
b) 2+6+18+... _—
(=3 &e’r‘%‘;\,“@{%—@i
(o
a a a . Ta, ;\—3
Ve St |29
: t\z )
=3, rel

12. Find the first term in a geometric sequence
whose common ratio is 3 and whose 8t term is

8748. (=3 ag= 848 a0y N

ag=a(3)%”?

84p = q (2)°

8 3B = zi18%a — - |
=83 2187 =4 |
13. How many terms are there in the sequence
111 1 a=|
19_'5_':_9"- ? = ‘/
248 1024 =
— (ﬂ & [11]
1024~ ' \#

i 10 ..I.. n-} - i
14. Find the sum of the first 8 terms of the

sequence 1+4+16+.. S,= af 12
a= | Y= L’- \=v

8= \(‘-l'—:-*-ﬂ: 121849]

15. For what real value of cwill 6,2,¢ be

consecutive terms in a geometric sequence?
neeas A conSant muihpliev

(Aivider
C _ 2
2 p
weew | 73
v b e e
',“‘,V

C

15 16!
16. Evaluate (3 J = 5-!—(@—_'3")! oR |5 C?;

469

17. Expand (2x-3)° 2
(£) (20 (3% ()20 ¢ () 19)
b (5) i) (-3) + (D)2 () (£)ad(s)
- S+ s (V) [-3)x? +10(8)x(2)

i L(\?,oz%t‘t-z?) L5 (2x(81) + 1 (-242)

[32x5- 240x" +7204%1080x* +810X-243 |
18. Find the 4™ term in the expansion (4x-2y)°.

60 (1024) x © (-8)y 3

-458352x 2\ 3 |
19. Write the term that contains x° in the
expansion (x+2y)"°.

[2) 00" (2y)

210 x“ (lv) \\u'

(3300 xy*

20. In an arithmetic sequence a,=4x+y and

Q= 2)(’79\]

4

a,=6x+5y.Find qa, .

d:+2x+4ﬂ

a, = % +dW-D) |
q, = (2x¢-24)* (2% #y(e)
= 2X-3Y +20x + 40y

]ZZX +3'4*l]
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